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18 Geua (. Geumy erensubd ellayms QFMGLUbED eT(WPS& Fal_Ng).
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3.

m

The BCD equivalent of (27),,

(A) 00110101 \.a!f 0010 0111
(C) 00011010 _ (D) 00100101

(27),, eTenD LGB e eramarilan BCD auig quid

(A) 00110101 (B) 00100111
(C) 00011010 (D) 00100101

Who was known as the ;Morrling Star’ of India?

: ‘@ - Raja Ram Mohan Rai

(B) Mahatma Gandhi
(C) Rabindranath Tagore

(Dj Subash Chandra Bose

@E@”—'”Gﬂ@h 5’9@;@6‘45‘7@’ A SDPESUILHUSUFT wIniT?
(A)  @rrgr pmd Guonaser pmis

- (B) wsriwor st

©)  @rSsSypns snami
D) sy sHHy Cuneiv

‘The Bombay presidency Association’ was started in
1885 A.D. N (B) 1882 AD.
(C) 1883 A.D. (D) 1880 A.D.

‘& LmbGL SyeflQLciren) HCrrnafiCuasdn AsmLmsi o a&rh erg?

(A) 1885 AD. . (B) 1882A.D.

(C) 1883 A.D. . (D) 1880AD.

'GECS/19
[Turn over.



4.  Name the Marathi weekly, started by B.R. Ambedkar in 1930
(A) Samaj - (B) Samata
M" Janata (D) Bharat

1930-1b <pam® 19. <. SbCLESHT AT amyiLsSfsmadier QUL erénar?
(A) swrgy . (B) &#wsr
(C) QTS D) u TS

5.  Who founded the Indian Reform Association in 18707
(A) Ram Mohan Roy ;
(B) Debendranath Tagore
: w Keshab Chandra Sen -
(D) Ishwar Chandra Vidhyasagar -

Qs i mss shssms 1870 Hime WGUT Wm?
(A) gmb Gorser Fmul

B)  CsCupdlyprs suaar

(C) GCsslisndly Qeen

(D) rmeveur sBSy eNGWITFTST

6. - Who passed the ‘Widow Remarriage Act’ of 1856 ;
: \4) Lord Dal housie : (B) Lord Canning
(C) Lord Wellesly o (D) Warren Hastings

1856—24,1b ,e1(h eSlgemeu MT FUL SnsHs CameanT(h eubseum wimm?
A) LeGanerd Gy : B) Cseflm Gy
(C) Qeusvevevad iy : D) aumpen Caneivig hie

‘GECS/19 g
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1. Who was the author of ‘Kavyadarsa’?
(A) Visakadatta (B) Kalidasa
w Dandin _ - (D) Bharavi

“@rauw gfleand” ey predlen oy Aflwir wimrr?

(A) NeressET (B) anafignam
© pamgen D) umyell
8.  Who among the f(_)llowing was the founder of the Turkish Dominion in India?
v  Qutub-ud-Din Aibak . (B) Htumish

(C) .Balban | (D). Ghiyas-ud-Din Mahmud

££géa STEMUGITSHEHET, Sl %Q&agmg Gpdureiley Carpniellggeum wimr?
A)  pusagus | (B oGy |
(C) unéven ' (D) Hwnsgern wabwgl

9.  What was the period of the Mesolithic Age?
(A) 10000 BC to 4000 BC
(B) 9000 BC to 4000 BC
weT 8000 BC to 4000 BC. | |
(D) 7000 BC to 4000 BC - | \ - .

B spsrasen srwb ag?

(A)  &.qp. 10000 apsé H.qp. 4000 cuany
(B)  &.0p-9000 a5 &.ap. 4000 auany

(©) &.qp. 8000 apsed &.qp. 4000 auemy

(D) 8. 7000 opsé> H.p. 4000 avavy

GECS/N9
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10.

13,

12.

GECS/19 6

Reduced leaves and Sunken Stomata are the characteristic features of
(A) Epiphytes
(B) Hydrophytes
(C) Mesophytes
) Xerophytes
@@ssuulL.  Qaesar . LHML wanlL  QeesgHmarser aeundlar  GeTTSlauwl
LIGRTL|SET(GLD.
A) Qsrhms sreurmser
B) Breunps sreugriser
©C) QaLfoasdsraurmse
(D)  aumer flewg sreugmiser ;
The human erythrocytes contain adequate amount of enzyme
~ (A) Carbonic kinase (B) Carbonic amylase
(C) Carbonic ligase ﬂ Carbonic an hydrase
wafls Qrés Heuliy Signssafledr Cungwrer jere] ————— QBT 2 drang
(A) srrurefs £Geren (B) smurafls oHGaev
(C©) smureals NGasen (D) sriureis e mant_Crev
Structural unit of a gene is called as
ﬁ Cistron (B) Recon

(C) Muton (D) Codon

sjafles DemLoLiL| DIV eTemLIg)
(A) Sevi_gmen - ®B) f&amen

©) WOy men (D) QCsm_men

L



13.

14,

15.

The raw material used for the manufacture of Rayon is
(A) Coal : o _ w Cellulose
(C) Plastic o " (D) Petroleum

Grwmar swrfléal Lt apeti@urmer

Q) Peosef - By GsegiCare
(C) Senneivigé B (D) QuiGymelluid

Which organic functional group forms the peptide bond of protéins?

(A) ether ‘ (B) ester

(©) acetal . v amide

UrssHe o drem QuiemL( Beemidiaman 2 Baunsg s dimens AgTES agl?

(A mpi | B) v
©C) oflime : D) seon@
The pH of 0.1 M NaOH is
@ 1 . ® 0
© 14 | v 13
0.1 M NaOH - ér pH i, )
@ 1 | ® o1
© 14 Oy 13
7 _  GECSN9
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16. The river which originates from the glacier located to the east of the Manasarovar

lake is
(A) Ganga ' (B) Yamuna
M Brahmaputra (D) Indus

wrersGrreui gféeE HwsCs siamwhgerer uaflwrhdemba Coreamid b
(A) sR®s (B) wqperw

(C) Ggowysdgm D) Abs

17.  Bird — Foot delta is best formed by

d Mississipi - (B) Ganga
(C) Amazon : (D) Nile

upeeils ung QL Telpéa Was Siphs 2 STrend 61g)?
(&) T E ) B) smms

(C) oCwemen - (D) epev

18. Black soil 1s also known as

(A) Khadhar (B) Kankar

w’ Regur (D) Red

sflae wewr eramiu(Beug).
(A)  snsm B) smsr

(C) fsrm D) Heuly
GECS/19 8
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19.

20.

1t

As per 2011 census, the populatmn of Ind1a 18"

. . (A) 646 million : - B) 745 mllhon

" 1210 million | (D) 1029 million

2011- DD <1, ERT . 65T D& G]grrmés sansQa®UIGanug. @ ssa Asrms oiena, eTartan? ] _

A) 646 Sodlwuar  (B)" 745 fidSlwin
(© 1210 Heellwen - (D). 1029 BiésaSluicn

‘Find the incorrect statement (s) from the followmg
(1) meg to the over populatlon the per caplta avaﬂablhty of water is going up.
(11)) Due to growing populatl_on, the per capita avallablhty_of water is going down.

(iit) Urbanisation and Industrialisation are the causes for deteriorating. water

reservoirs quahty

. (iv) Urbanisation and Industnahsatlon are not the causes for detenoratmg water

reservmrs quality.

\Af G) and (iv) only - (B () and (iii) only

(C) (i) and (ii) only - O @) and (iv) only

ﬂwm@mmejgbgcﬁ SeUMTET &rj)g]esénmé; EHTCHTE .

) Sens DEEET Qg‘nwat&l& siyaarons HeoLsssaa . goor Bilearerey s(Hib.

(i) was Qsrasy AupsssSdr smemors Sl dssemu Igsaie) oSs semmatfarerey
| GeopLD. - | | L . |

i) B fleesatan gg&@mgaﬁ]m@ BSTOUIDTSEND G]grr@m)mu_lmrrg,gjm a;rnysmrrmrr@m

(v) B Pevesaficr g,uas@m;gum_qm@_ BEMOLILTSID CFTHDILLILISEID STHRLODD.

A) @) oppd (v) i Gid | (B) @) wpgd (i) o (b
(€) (i) wpmp (i) wrGib D) () opmo (V) o Gid

s - . GECSN9
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. 21,

22.

23.

-

‘Which one of the following is a primary function of money?
M Money 1s a2 measure of value

{(B) Money acts as a store of value

(C) Money helps to transfer values

(D) Money facilitates the distribution of national income

- eauheueneLHmIET Grpg, QT LIeRT&Sl6n (g 6anLo mes Liewil é;_g,@w?

(A) Logf,]u@mm .;enarrsﬁl@m SiareyGared
B) wHldmear Calss e sadlmg

C)  wilyseer wrpo 2 geydng

(D) ' Gg,é]ﬁ.: eu@eu mis Ldedled ag,mﬁmg;

Name of the award givén for outstanding performance in sports over a period of 4
years. , - :

(A) Dhayan. chand Awélfd '
(B) Drono Charya Award

W@ Rajiv Gandhi Khel Ratna Award

(D) Arjuna Award

lﬁmsu@mmeug)ym - BTEE, %e‘m@aaerr aﬁlmerrumt..@ gjmmuﬁlw &rrg‘,]&@m aﬁun&@&@.
aupRiIsILIRDL eSl(mg 6rg?

A swren aps ABSI |
B)  HCymewrs snflwntt eSlBgy

.'(C) yredels _a;rr.ri_sgc,] Caed yHen ef(ms)
(D)  eirsyoenm efl(mg)

When do India celebrate ‘Kargil Vijay Diwas’ annually?

(A) 24th July (B) 25t July
e 26t July | D) 27t July.

STl eflggil I_I_I.IUITGLI T prrei'r:creh@l Q&mitrn_m__u.u(aéi,rp@? h
,(A) 24 groemen | - (B) 25 grew
(C) 26 graw o (D) 27 grea

GEcsnes . 10 =



24. How was Harappan archaeological site damaged in 18577
(A) Earthquake
(B) Land slide
(C) Flood .
m Used as track ballast for building railway line

1857-6 anyuiur QgreGum(meT SiFowenL wé GNTeRTD eTeme?
Q)  Hop@éswd

B) B sfley

(C) Qeuererid

D) gdhed uTmsMW Si®WES QRIGETAT HNEHET UWTUBSSILULL 6T

25. What is the meaning of ‘Free cycle’?
(A) A cycle given as free
" (B) Aride given as free in a cycle
.A Give away something that are used and unwanted as opposed to selling
(D) None of these

‘Free cycle’ erenuigan Qum(mer wng)?

A) @Qaoeus WldeuanTy.

(B) Qeoeuswrs Wdeueirguie sHmeug

©) vweau@sHw Qurmarer cllhsmod gmer UnDMHEE QsTHLLg
(D) Cuhamdw eggulldena

26. What is the chemical name of sand?
(A) Sodium chloride (B) Nitric oxide
)  Silicon dioxide ' (D) Sodium oxide

wewredlenn CeuHullwied QUi eremen?
(A) Gemguwib GCermenry(®H (B) eoplfé samen®
(C) Sllssmen e psaman(h D) Cemguid spsenen(®H

11 : "GECS/19
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27.

28.

29.

What is AskDisha?
(A) Name of a person (B) Name of a place
(C) Name of a Machine w Name of a chatbot

24EVEIq QYT GTENMITE) GTEIEN?
Q) veflgefler Quui B) @Lsden Quuit

(C) eandlrsder QUi D) e e@rur@b GwearGurmeier QUi

Which state rebelled against India under A.Z.Phizo?
(A) Mizoram \d Nagaland
(©) ‘ Sikkim o (D) Meghalaya

A.Z. 9CGagr senaenioudley et wmbled @nSlwineln@ erdlyme Cuimymg uig)?
(A) BOCempd (B) mrsrenhg

©) H&Ab @) Cozretin

Who was the first chairman of Atomic Energy Commission of India?
(A) Vikram Sarabhai ~ Homi J. Bhaba
(C) Abdul kalam (D) Kasturi Rangan

Qi sigm 558 EWsHEe PSSO SO WITT?
(A)  el&yib smyrUm B) CapmddJ. umum

(C) eilge semd (D) sevgfl prisen

GECS/19 12
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Tt

. Arrange the .Na_l-)el laurate;s chronologically
I.  Mother Tere'sa_ -
- II. Amartyasen |
I Hargobind Khurana
| I.V. Chandrasekar

@ oL, (B IV,IL I, II
w7 HLLIV.II O L ILHI IV

Grrued ufle QuppeuEener s cuflenalinig. miﬂ@&tﬁu@@gmm. -
L isenen Clgpem
II.  wisdurQgen

I11. apiGamAens @rmenT

IV. spdlnCear
Ay ILIIILIV,I _ @®) IV, IL1 10

(© IILILIV,. I @) ILILIIL, v

‘Which Indian film won maximum awards at Oscars in 2013?

_ (A) Slumdog Millionairre (B) Dangal
o) Lifeof Pi ' ®») PK

GG @ ‘mﬁu_l Sapyluib 2013 <,60T1q.60 Ly <penaEnt sllpgisenet QUHNHE? '
(A) v Bldelwant (B ks

(C) ol .0 ou ) - (D) Cs

13 ' . - GECSN9
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32. ' The least number wh1ch when d1v1ded by 16, 18 and 21 leaves the remamders 3,5
and 8 respectlvely s :

(A) 893 - | _ (B) 992

W 995 (D) 1024

16, 18 wHmit 21 e dw eramseer GEEG Cung bS5 @JGID[_I)GILI 3 5 Lng)gum 8 smdlem Wl5&

Srblwy erewr |
(A) 893 ®) 992
(C) 995 ) (D). 1024

| 33. Find the next term in the series :
DF, GJ, KM, NQ, RT? o
@) UW v Ux
© Xz - O YZ

- auflensuilen DIHMES 2 MUDUSE Eras.
DF, GJ, KM, NQ, RT? .
@ uw ®) UX
(C) XZ : D) YZ

34. Ify% of xis 50 and 2% of y is 25 then the relation between x and z

\A x=2z B) =z=2x
© x=4 D) z=4

x ey #5635 50 erameyld ¥ arz szeisib 25 arafléh x &@ib 2 H@Gb 2. 6rer QAgm_riy . '
A) x=2z | - B) z=2 |
C) =x=4z . D) z=4x

GECS/19 | 14
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30.

36.

37.

1t

Find the LCM of 12(x -1)® and 15(x D{x+2)?%
(A)  40(x- D +2)? B 60 (x-1)x+2)°
v 60 (x-1P(x+ 2)? - D) 40 (x-1*(x +2)°
12(x — 1)° LoHILD 15¢x — 1) (x + 2)2 -eor L. G]urr ) _ . _
(A 40 (x-1*(x+2* = . : ®) 60 (.-.: 1)2(x +2)°
() 60(x-1)°(x+2)?° (D) 40 (x- 1)3(x +9)
Simple interest on a certain sum is % of the sum. The rate percent, if the rate
' p-ercenf and time (in years) are equal, is
&) 6% | v 8%
© 10% D) 12%
) Cgrasssrar gafleuqureg visbsrensufer % DLBISTS 2 CTeng), GL.D@J.L‘I) _
| QUi LITENS &Te &maﬁ]ﬁ}@ FLOTS SYBHSTED Db eut_ig. eTecuaTey? | |
A 6% . B 8%
G 10% : - (D) 12%
The compound interest on Rs.30,000 at 7% per annum is Rs.4,347. The penod (yrs) is

wt 2 ® 2}

© 3 | (D) 4

mumia 30,000 &g 7% c%c;cnrr(l})e;;(e_r) feoL&GLd Qg,rrams Fal_ (B em_mruﬁlsu 5. 4,347 c;reo‘rg)rrm

: G]Lnrrg,g.%w@,\ GTEUEUETEY?
@ 2z o ® 23

© 3 | | D) 4

15 GECS/19
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38. Find the wrong number in the series 69, 55, 26, 13, 5
6 i - - (B) 13
(C) 26 e D) 55

69, 55, 26, 13, 5 erenm eullenaullen Heum e 6TEHRTENEWTE &MTEHRTS

@A) 5 B) 13
©C) 26 (D) 55
39. If m and n are two numbers, then their LCM 1is (Let HCF
(m, n) = HCF). '
( mn mn
) HCF : ®) LCM
m+n m-n
D
© HCF (D) HCF
m wHnL n Grsin't;'an @Quan(® erawser erafled sjeumder LCM —— (HCF
(m, n) = HCF arens).
mn ' mn
@ HCF (B) LCM
m+n a wily
© HCF D) HCF

40. The HCF of 598 and 874 is

v 46 B) 41

(C) 43 : v Lok S 36

598 wmmib 8746 LG QuiTg) euE erewr u.urrgj?;
(A) 46 c (B) 41

(C) 43 | (D) 36
GECS/19 16 '

1t



41.

42.

43.

‘The value of (

The rate percent per annum, when a principal of 2 7,000 earns a sm:lple interest ¢
1,6801 in 16 months is -

A) 8% | | \6 - 18%

€ 16% . _ ' " (D) 15%

16 mrrg,rma;@as@ (93,593@ AT sjser T 7,000 —&s Qu,rpuuu_ GU@LFF‘I}‘)QIJ‘ Errgm;fmr

iy 5Qsmms T 1,680 arafld, opam® g s5elgih areng

@) 8% - B) 18%

(C) 16% . D) 15%

Which one of the following prepositional logic formula is true when exactly two of
p,q and r are true? _ _

@ (oordviora~r] . M Fhodardvipaan~r]
©) [p—>g)ar)vlpaga~r] | D [p-oanrlviprga~r]

D, g wpmb r qg,éhumgmﬁlw sflwns q@g@jm Brast( o amerwQuiafe, £Q$5ML .smg}@eu T8

2_TnIn?

@)  [peogar)vipaga~r] ®) [-(eoanrrlvlpaga~r]

O (e grrlvlerga~r] O [leoaarlvlpaga~r]

9.6x9.6x96-54x54x5.4 is
96x96+9.6x54+54x5.4

A) 5.1 B) 4.6

N iz . D 15

(9.6x9.6x9.6—5.4x5.4x5.4] ) . '
. & whHluresy
96x96+96x54+54x5.4 -
(A) 5.1 | | B) 4.6
(©) 4.2 | - D) 15
17 | . GECSN9
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45.

6.

(Ii) :
GECS/19 : 18

44. In the year 1998 which one of the following commiittee was established?

{(A) Vohra Committee _ (B)  Dinesh Goswami Committee
\J Indrajit Gupta Committee (D) Tankha Committee

SpasaorcunHled ebs S g 1998 —b yewv® FHuBSSOUT L &1?

(A)  Goumm sl - ' (B) HGeaiy Camaveums sl g

©) @udrds Gust sl (D) suensn sy

Which one of the following committees recommended constitutional status for
Panchayats? '

(A) G.V.K. Rao Committee (B) Ashok Mehta Committee
L.M. Singhvi Committee (D) Lalit Mathur Committee

EpésarL Gussald ugsmusgieEsy SITfluaamoly Siguuaclorer Hoaufamer
alphigony LAbgMTESs G &ig? | |
(A) G.V.K. gréb g B) Cs1s Cwssr G

(©) LM anel gy | D) wdly wrggnt W

- The Comptroller and Auditor general of India submits his audit reports to the :

(A)  Union parliament
The President of India

- {C) The Vice—president of India =

(D) The Prime minister of India

BbSHuwimellen g,mmml.ls wHmd efléms cg@'l&mﬂ sang) sarfisans sifisamaawt swmdoug) : |
(A)  wsshu urpTEBwaTDDd o '
®)  @spugerHug -
©)  @ipdu e gendud
BiHu g -

L}



47.

48.

49.

Tt

The Inter—State council was established in the year
(A) 1988 B) 1989
v 19% (D) 1991
mn,rfglsuréja;@é;é]ml_Gourrw @@ TOLESSILL L 6T
(A) 1988 (B) 1989
(C) 1990 : (D) 1991
Which one of the following States does not have a legislative council?
(A) Bihar (B) Jammu and Kashmir
(C) Uttar Pradesh v Madhya Pradesh’
Spssamcupie sLwanp Cuame Gawrs wrblon eg?
(A)  Sanf . (B) g whgh sreigSh
©) =550 MCssb D) wsHud QrCgsd
Consuler the following statements on Lok Adalat
1. Award made by Lok Adalat is deemed to be a decree of a civil court and no
appeal lies against there to before any court.
2. Family disputes are not covered
3. Relating to civil/criminal offence not compountable to any law, Lok Adalat can
not decide
(A) Only 1 ot 1and3
(C) 2and3 | . (D) 1,2and3
Coné ipensder sfluner ansfusas GCsaia) Aaiis. '
1. Coord Bigensd @m 2 fepouflid Gaa_(D&@ swwreng, Carsd sgargder Srlamu
T iss Guawaeanli® dswuuuong.
2. G&HDL FeTenL_&6T Coond iSOG Ly, cTeUmIEEGameLGIg)
3. Gyeoo  Hnw  GOHneflud g’,uqa;a;mm &fa; Qeiw CGond sOTEHHG
B aTeua Sl enLLITS).
(A) 1wl@wo (B) 1 tomnd 3
(C) 2wpmo3 ' D) 1,2 wbyb3
19 _ ' GECS/19
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50. Sudd_en fall in barometer reading is the indication of
“(A) earth quake | (B) rain
w storm - : _ - D). clear weather

umgmoref serei@ QQG]UW @a)g)mg]'ﬁmg, s Hélng
(A) He p@ém‘n . , (B) e
© gua (D) Qsafleunen curaflena

51. A metal wire of resistance 5Q was cohnecl;ed to a battery of 10V. Then the current
through the wire and the power spent on the wire are ‘
(A) 05A5W T\ 204, 20w
© 5A05W | (D) 20A,20W

5Q fengerr Qanen. o CGarss soi@Quramy 10V - Saeflusg ofens Qe
ensesgien Qeramssn Hererg erafle, sollller Lmuyb WeaGarm L whmib swEudd

Qeeeuflssln’ L Smer i _
A) 054,5W (B) 20A,20W
(C) 5A05W ' - (D), 20A,20W _ o e

52. A doctor prescribes spectacles to a patient with a combination of a coﬁvex lens of
focal length 40 c¢m, and concave lens of focal length 25 cm, then the power of
spectacles will be '

@) -65D - - (8 15D g | -

W -0 (D) -85D

@ sar LkSGT Crmuned 9@@1@5@ 40 Q5.8 @eSlus Usreraeydter @allAudesyb
- 25 Q5.8 meilwg Gsrewadma @GPiQeda@sun Geiss pEG &smsmmq_ 2iemflu
ufipgiepsHpnT. Sibs ApdE scimammg ullen Hmer sTeen?
(A) -65D ' _ (B 15D
(Cy -15D . (D) -85D

i

GECS/19 20




-

1

53. ‘The Indian Independence League’ was :'fbrmed n _
(A) India | v Tokyo . o
(C) Bombay (D) Madras '

‘Bpdw sgpdé a8 érm@-@,srrt_rﬁ:estllul'_l_g? _ '
@)  @idwr - (B) CLisHCLN
(C) LitbLml B D) _-le'_lyrrefu '

54. Name the book written by Lala Lajpat Rai
d Un happy India - . _ . (B) Discovery of India
(C) Gitanjali : (D) Mabharatta .

e efgLd Frumed aTpsliu L mrellen Quuit arene?

A) e Gapus @Hwr (B) gdvsaufl U QiHur
(O &zngpedd ' (D) waprgrilb

55. In which year and where did the All - I_ndja'Khilafat conference held?

w&®  Delhi - 1919AD.
B) Bombay =~ - 1920AD.
(C) Calcutta —  1919AD.
(D) Madras —  1920AD.

‘amaﬁﬁ,@ BAW Serus wapa® THe a0, ThiE Gen_GbHng?

(&) Quiad — 1919 AD.
B) ubumi -  1920A.D.
(Cy sosgsT - 1919 A.D.

D) Qo gme - 1920 A.D.

21 ' | - GECS/19
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Which of the folloﬁring Sikh Guru W_aé killed by Aurangzeb?

56.
(A) Guru Nanak : (B) Guru Arjun
(C) Guru Hargovind . ‘6) Guru Tegh Bahadur
SpsanL &8l Gmasaticn &mumﬁu@mm) Qararas gswrt_a)sm sﬁlélasesuu L L& wim?
@) eopres. - B) ©osiga
(O Bowitardss - (D) &mCss usgT
57. Who founded the Rama Krishna Mission in 18977
- (A) Rama Krishna Paramahamsar -
(B) Dayanand Saraswati
) Vivekanandar
(D) Sri Aurobindo
- 1897 b %m@ @rmodpesemn Waganan Cordmeldgeust wmr?
A) Qorwdmelsent LFLADLET
- (B)  pwrenis sreveud
(C) eNCausrarpsi
. D) supellpsn
58. Who was the first Gupta ruler to issue silver coins? ‘ ‘
(A) Chandragupta—1I \A) Chandragupta — IT
(C) Samudragupta _(D) Srigupta
' _ngssa (Ppgedled Gmmaﬂ ll_r,rrmrm,smg, Qauafiulil' L @18 Sige Wi ?
- (A)  somd &g’;g‘)rj SUST _ (B) Eem_mbd sndy GLsT
€)  spsdy eust @) ubsust
GECSN9 B - 29 =



- 99,

.60.

Tt

Alkalcuds are a group of toxic wastes products, but some are useful to us. Mat;ch the
useful alkaloids and their sources :

(a) Quinine 1. Opium
(b) Morphine 2. Tobacco
(¢) = Tropine 3. Cinchona
(d) Nicotine 4. Withania

@ ® © @
(A) 2
©)
)

- o W oW
Wi
bo B B =

1
4
3

UOEOMUBSET aeiume) BFeS Sfleys QuTBLESETIEGL oD Dereusaidr Ho BLSG
vweruRSng!. Lieru B DS MU BSDETU|LD euddlel ETgRIEmerD Qurmsgs.

(a) GWeerear 1. ofub

(b) i Gew 2. yasllae
() L Gpmllen _ 3. HenCsresm
{(d) HCsmgen 4. SpsayT

@ & © @

(A) 3 2 4 1

B) 3 1 4 2

) 38 4 1 2

D 1 3 4 2

In DNA, nitrogenous base together with a deoxyribose sugar and a phosphate group
forms a ‘

(A) Nucleoside W) Nucleotide
(C) Protein (D) Amino acid

OBLTmET ETTOTEE), . 2&eACUTey siEsmy Lng)gu.n urrsro(SuL_ Qer@Hij_er G&IT‘II;Q]
DNA dfiléb 2 (paureug)

A)  HlysefiGuneean®m - (B) ‘rf,]gé;QﬂGu.lrrml_(B
©€) uyrsw _ D) HACanm fteod

23 | GECS/19
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'61.  Which group of vertebrates comprises Highest number of endangered species?
v Fishes - (B Mammals
" (C) Reptiles - (D) Birds

S enfuys  gmeumndgiater  paQsgbdsda oifls aenafisosdd aps  Qst@dudé

areriLAps?
| (A) . Berser. . | (B) LIMQILlg. BT
(C)  eaieuan | ’ D) upiver

'62. Which one of the following drug is called ‘superman’ drug?
(A) Cocaine _ : 6 ‘Amphetamine
(C) Heroin | (D) *Alcohol

Spsnsimiaipiles el “GUUAGIET aRIILGID LES AL Bib OEHE?
(&) CsnQsiien - (B) syb O e
(C) Qapgrullen - D) sapre

63. The oxidation state of carbon atom in C;0, molecule is
@ o B ® +2 |
© +3 B . . T . ,

C;0, erenm epeavdssn B siicr sameian 255MmCadn eraT
@ o ® +2
© +23 (D) +4/3

GECS/19 C 94
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64.

65.

11

Match the following:

(a)

®)

©

- (d)

(A

B)
©)
D)

" - .
Ll R

Mountain Pass

Bum la
Khardungla
Nathu la
Shipki la

®)

DO DD s

QUF®§@5

()

M)

()
(d)

@A)

%

O

GY
®)
(©)

LDGED FHERTEUITI
LD Gur
&miT@Gimer

Egl e

Aud e

@

ok N oD
RN =T

Hazaribagh
Jaduguda
Hutti

j Zawar

—

we Wk

(©

(WL IS

State
~ Sikkim -
Jammu and Kashmir
- Himachal Pradesh
Arunac-hal_Pradesh :

e o

(d)
3
1
3
1

. wrilend
Hadlo

' Qb Sreis S -
aflioréser GseDd

B W

o~

o O o Lo

* Which one of the following is not correctly matched?

Mica

. Uranium
Gold
Copper

QenaumeuareudBleh 6ra) Seupns QUIBSSIUCBerarg?

(A)

®)

(©)

®)

ADFNTLINE
KOGLT
amL_lg..
ey

ewsr
yGyaflwib

ShGLD

gy

25
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66.

67.

68.

- 69,

The mouth of the volcano is known as .
A) Cone - -~ - : (B)  Pipe

M Vent . o (D) Focus
erfianeullesr auiml eTemenpaEaE LGS S

(A) by | S B e
(C) Qeuanm. S ' (D) emouns

The first major irrigation work of Ganga Canai in Uttar Pradesh was opened for
'1mgat1on in the year

(A). 1852 | d 1854
. (€) 1860 , (D) 1871

&gﬁu&u@gaﬁﬁw o grer Gugearey urFersH L omar ZmREE &MU q,pg,m (y)g,aﬁlsv

- unsasHHE Hobe el %GMT@

(A) 1852 (B) 1854

© 1860 | ®) 1871

The First Planning Commission, in India was set up under the chairmanship of

wf  Pandit Jawaharlal Nehru (B) Mahatma Gandhi
(C) Indhra Gandhi ' (D) Manmohan Singh

@‘r_r)g‘]u_:rraﬂso PBED QI'_I_G';@@ WL Sanaenpuliled Siesslul L g)?
(A)  wewrg geuapiend G B) wsnswrSTHS
©) @pdyrarsd D) walwrser S

As part of land reforms in India, the actual abolition of intermediaries first started in
Aa) 1947 (B) 1956 ' |
1948 ' (D) 1950

@pej,]u.lrraﬂeu ﬂsva P mbs }I)l.&ll:;.&i@&&ﬂﬂw S UGHUNE, YEem Apsdld G g,uesrrsmsrr
QUULSHETAT BL Ul SH& THGSULILL. paRt(y.

(A) 1947 B) 1956

{0 1948 o _- ®) 1950

-GECS/19 | '_ 26 : _ | &



70.

- 7L

ft

Find the incorrect statement (s) from the following:

)
(i)
(iii)
(iv)

&)

"4

Mirzapur, Bangalore and Hubli are the places of pilgrimage
Allahabad, Benaras and puri are the places of pilgﬂmage
Mirzapur, Bangalore and Hubli are the trading centres

Allahabad, Benaras and Puri are the commercial centres

(i) and (i) only (B) (i) and (i) only
(i) and (iv) only = ' (D) (ib) and (iv) only

LSleiTeu (1561 5T6U D IS H6U DTN FaDMISFITTS: HTCRIs ©

(i)
(ii)
(iii)
(iv)

(A)

(©)

SlirEmy i, GuRIEEST wHIYL apeUe %EQUJGNG:U yefly dugeorisamsd
DOETUMS, LarTa wHmWY UM 8me LS FsNRETTGD
BifrEmyf, Quméz@ﬁ wHow ape L6l pflumes wearfls BarhsarTEn

SIVETLITE, Lemyen wHmD WA HHwee euamils sariisaTTEDd

(ii) whpd (ii_i)l L {Hibd - B) G) wogo dii) LG
() g Gv) L Gib D) (i) wpmd (V) LCED

Which of the following is the problem in the estimation of National Income in India?

v

©)

Non — Monetary transactions (B) Inflation

Conspicuous consumption . (D) Goeod banking habits

Qpdwrelld Csflu aumoreisams aamsdn Cung Spéaar_anmer amal Wréfleanuns

@ (muug?
@)  uemdderuflaissoase (B) LencSEsD
C) @IS ssss psTey D) po auid Lpsad (Casliiy)

27
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W}uch of the following measures humldlt.y"
(A) Hydrometer _ o B) Altlmeter
M Psychrometer S o D) Radl(_}meter

rrquug,gﬁwwamasas &g,sqmas@sﬁlcrg? _ |
(A) engul_(ﬁumﬁl_l_rr | ' . - (B gl |
(©) 'GD&&GIIHLBI_I_H - : _‘ (D) Crg GuumdSi i

. 73.. - Which country hosted the ﬁrst women only foreign minister conference" '
v Canada  ® India
(© South Afnca -~ (D) Brazil

) Gusm Qeueth Lpeq wg;éllﬂsaﬂw LOMTBITL. g ST ‘l_bl_gﬁlu.[ prr@\ ol

- (A) a;em_rr . ': o B) @gﬁu_[rr
- .'(C) seys 9N EsT | (D) 9Grde

74, 'Wluch state has the thhest number of ﬂowermg plant in Ind1a accordmg to BSI‘?
| (A) Kerala : . - (B) Maharast.ra .
wef TamilNadu (D) Meghalaya

BSI @;;ﬂa;masuﬁ'lar g @p’;{é,‘!umﬁ]m Grpg, mnﬂmg,g‘,lm &G g,rre_n;rrmeam Lﬂas éug‘;]aal.mra; '

: .5nm7uu®a§]m§1? '
B (A) Qasyerm | S -' -(B) wenngreggT
© sOpp® @ Gosein
' GECSne . L 28 -
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" 75, Who is the first former pnme mmlster to be the leader of opposrclon in Lok sabha in

later years"

(4) Indira Gandhi - \6 Rajiv Gandhi
(C) SomiaGandhi (D) Raghul Gandhi

gm@gs&m srpg eemrer g wHAN, @@rmnaﬂsﬂ Gsurra;surreﬁ!m Grﬁrral_aﬂ
. HENVEUTTSEEYD Qanucvuu_mr? '

@ @sgoresd B s sns

©  Goraflun smd (D) g sipd

- 76. Who among the followmg has never been the chalrman of the F1nance Comm1ssmn of

" India?
A Pranab Mukherjee

- (B) Mahavir Tyagi
©) C.‘Rangarajan -

-{D) " Brahmand Reddy .

‘%Epa;assml_gurr&aﬂw ereu i @pEur B4l %a}mrugﬁm Beoaauns QubsHaeme?

(A)  AQgrestm (y)a;rr@ : - (B) mg)rragrr Qu_lrréﬂ
(&) ﬁrﬁusr;rrr&sh | (D) lﬁlummrrso'r‘r_r; Qg
77. © Name the world's largest artiﬁciﬁl Island _
'Af)' " Flevo polder - - | (B) Palm Jebel Ali
(©) Palm Jumeirah - | (D) Kansi .

2 fGaGw Bal Quilu OsuiHens Sellar Quuwit areran?
(&)  QuaSCanGumdLi B umb QiU e
©) umb Qgenogr . D) smexf |

9. - GECSn9
: _ : [Turn over"



Who was the first woman Prime Minister of the world?

78.

(A) Indira Gandhi (B) Golda Meyar

M Srimavo Bandara Naike (D) Margret Thatchar '

gﬁ)ésm) e-wsgden (pger Huet Qg wiri?

@A) Qodor s : (B) GsmeLmr Gwi

©) &fwnGeur ugrLmy ‘I;F)FFUJG‘ES (D) . wridgL. SIS
79. Whic_h two presidents of India used pocket veto?

(A) V.V.QGirl and Zail singh

(B) Abdul Kalam and pratiba patil .

Dr. Rajendra prasad and R. Venkatraman

(D) Sankar Dayal Sharma and Pranab Mukherjee

abs B gemdudae unsGal S G siflanfsems LwaL@SS ermiser

(A) &fl.ef. &f whpbd Agguiles Hr

(B) =iligie sewmd Hgw Grdur url G e -

(C)  LnéirgnGgpdy Gysns wppid R. Geurkispmoer

D sust gu_[rre'rr sirom whpb 9germl (psigl
80. Pick the odd one out _

- The principal languages in Sikkim are

(A) Lepcha . Khasi

(C) Bhutia (D) Nepali

HEUMTESINS _l_gés@ _

- fsdb Lprr'r_f,'lm‘e_'r,g‘,ldJ Cueliu®i gpgarawwirer @uomflser

(A Qeoost - - (B) &ré

©) ylgur - (D) CGoured
GECS/19 | 30

1



81.

82.

L}

Pick the odd one out

-Who were the famous rulers of Jammu Kashmir?

(A) Zain-ul-Abedin (B) Lalitaditya

(C) Kanishka 7 Ahmed Shah Abdali
seaupraems 56

B srasleny et AFULTET DETATTEET WTT?

A) guller 2 o lliger B) odlgrgwr

(C) safagsi (D) <=i5wLg a3 2G5

Arrange the following in a logical order.

Birth
Death
Funeral

Marriage

R Rl o

Education

A) 1,3,4,5,2 6 1,5,42,3
(C) 2’ 3’ 4’ 5’ 1 (D) 4$ 5’ 3’ ls 2

SUWBRGEGUMRS5S Swarayb Qsm_fla

i Gy

2. @moy

3. Qodsne

4. & (mLoewTDd

5. seveil

A) 1,3,4,5,2 B 1,5,4,2,3
©C) 2,3,45,1 D) 4,5,3,1,2

31 GECS/19
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83.

84.

85.

GECS/19 32

If two cylinders of equal volumes have their heights in the ratio 2:3, then the ratio of
their radii is

A) 6:43 B) J5:43

© 2:3 vl V3:\z

eCr sar ermeaus Qaram_ @m o (peaseiar 2 wrmsaflar aldsn 2:3 arafler oeumbler

< rsaiien eldgwreng
A) V6:43 | B) 5:43
©) ' 2:3 D) +3:42

The ratio of length and breadth of a rectangle is 3:2 respectively. The respective ratio
of its perimeter and area is 5:9. What is the breadth of the rectangle in metres?

\ﬁ_em B) 8m

€ 9m D) 13m

em Qsaausgdar Harbd wHMD diswsHar elfgn panGu 3:2. HsbsauaissHear sHpeTay
whHmib ugtiuearelen elldlgb wanCGuw 5:9. aafle Qscuciasdean Ddswsms BiLfed sreams.

(A) 6B B) 8Bl

(C) 9w (D) 13 8o

Simplify 8988 +8+4
(A) 4494 (B) 561.75
(C) 2247 vﬂ 280.875

&(MH&GS 8988 +8+4.
(A) 4494 i (B) 561.75
(©C) 2247 (D) 280.875

1



817.

88.

86. IfA:B=3:4 and B:C=8:9.Then find 4:C.

@ 1:3 ® 3:2

“ 23 D) 1:2

A:B=3:4 wpgid B:C=8:9 aafle A:Cg snam.
(A) 1:3 : ' - (B) 3:2
(C) 2:3 : _(D) 1:2

A sum of Rs.12,000 deposited at compound interest becomes double after 5 years.
After 20 years it will become -

(A) Rs.1,20,000 \‘6) Rs.1,92,000
() Rs.1,24,000 - | (D) Rs.96,000

€. 12,000 &t @ il 5 yarhaEpse Q@ wLbsrdng. Cogb 20 HImhsad sfiss
areusuaney SenL_S@GLD. _ : '

@) ©.1,20,000 ' B ©.1,92,000

©)  .1,24,000 | D) 5.96,000

A can do a piece of work in 10 days ; B in 15 dajrs. They work for 5 days. The rest of"
the work was finished by C in 2 days. If they get Rs.5,000 for the whole work, the
daily wages of B and C are ' :

(A) Rs.150 . ' o MRS.225_

(©) Rs.250 . (D) Rs.300

@it Ceusnaouein 3 U@Qmm A arenueuii 10 prisafigid B erenueuir 15 prlsefignd Qedieur.

- @meumd 5 prisdr Geume Qelgent. BF Caenwenw C erenueur 2 prisefid® Qeuig

Wi gsi. Qonis Camass v mel ap. 5,000 el B pmb C-ullen Handsned)
(&) @ 150 ®) . 225 '
©) @ 250 - D) 6. 300

33 | _ GECS/19
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If%:% then find x+5:y+8

89.
(A) ' 3:5 (B) 13:8
©) 85 o) 538
X2 aaflé x+5:y+8 smewr
5 8
A 35 (B) 13:8
C) 85 D) 5:8
90. 5 out of 2250 parts of earth is sulphur. What is the percentage of sulphur in earth?
(A) 11/50 v() 2/9
(C) 1/45 (D) 2/45
yluller, 2250 unsggle 5 unsid sQUIT 2 grargy. erafldd LBl ersgemen eseisd Faum
2_Grerg)?
(A) 11/50 B) 2/9
(C) 1/45 (D) 2/45
91. Find the volume of a cube whose side 5 cm
(A) 100 cm3 (B) 110 cm3
\6 125 cm3 (D) 105 cm?
5 Q&.18 L&s SjeaTe| QST SAE EHITSI N ST HET6. HTERT
A) 1005 Q5.8 B) 110 5. Gs.8
(C) 125s. Q.8 D) 105s. Qg8
GECS/19 34
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92,

33.

.94,

LS

The average height of 10 students. in a class was calculated as 166 .cm. On
verlﬁcatlon it was found that one readmg was wrongly recorded as 160 cm, instead of -
150 cm. Find the correct mean helght :
WA w65m (B) 160cm
(C) 155cm . (D) 1T0cm
@_@ G)_I@UIS]G\} o e 10 Lnrrasu'reurraa@ﬂem gyreh 2wy 166 Qs.b, erans &GUuTaleﬂL_LJLJL_L.QI
seeuegemers  sflumid@gd Gurg ¢@m wHiy 150 Q8.8 &@. udeons. 160 Q&LS eTa
@HoELLuuC g &;m@tﬁ]q&a;uul_l__gj erafley sflwrer syref) 2 wigb smedr
Q) 165688 - (B) 160 @s8,
(€) 155Qs8. (D) 170 @8,
The Last day of a century cannot be | _ .
(A) Monday o L \6 Tuesday
(C) Wednesday | (D) Friday
@@ EADDTENT .65 S8 BIeT, aThss &peons GHastsl
(A) Aduger ' _ | (B) G&eueumu
©  ugar - (D) Qaugrefl
A man completes 30 Km of a journey at 6 Km/hr and the remaining 40 Km in 5 | N
hours. His average speed for the whole jo y is '
(A) 6% Km/hr VB? 7 Km/hr
© 7+ Kmhr (D) 8 Km/hr
. e@ert 30 8.5. sirges wearflse 6 &5 Gsuaﬁ'ej;_@ei) sL&Hpmit LDHOILD Lﬁg,(gjeﬁaf 40 8.0 snrsens
5 wenfl CrrsdHo sLsfpri. aafld seugmerLwu QwTss vwemsHharen syrsfl Caisb ereran?
(A) 64 HBjoadl . | ® 7HSfwadl
€) 7% ASjwah | (D) 8 .8 wenh
35 GECS/19
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95. Recommendations of Sarkaria Commission are related to
(A) Inter-State council
4) Centre—State relations
(C) Interstate water disputes

(D) North— Eastern council

grsasTiw Gpeder ufibgiey ergGanm(H Qgrra_r'rLJmL_ngj?
4) wrhetseEpsdaL Cuwnear @i

(B) wsHw - wrle a.g)euas-eiT

(C) mnﬁw@&@éﬁmLGwmnw gaﬁmﬁr Qy&senet

D) L flyss Guw

96. Who is the chairman of the 14t Finance Commission?
(A) K.C.Pant
(B) A.M.Khusro

q{) Y.V. Reddy

(D) A.K. Chanda

14-cug) flHa@pedler Hemeveur wimi?
A) Cs.8.ups '
B) .o Geom
© el Quiyg
D) . Cs.snam
GECS/19 36
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97,

98.

The Comptroller and Auditor general of India is an agent of the _
(A) Government | (B) The president of India
(C) .The public Accounts Committee N The Union Parliament

QB Haneento aéem&:_@.mgj}gnb panflsamanent paeurms QewuduBals
(A)  opsmhRED | . (B) @pdwu gamdud
(C) Qung samsE G _ ' (D) wsHw uTFMEHLETHLD

The whistle blowers Act (2011) received the presidentizil Assent on

(A)  13th December, 2011 - (B) - 27th December, 2012
(C) 21 Februa’ry,.2_014_ : 9th May, 2014
© 2GRN Qmmﬂa;@a;rrwrr@aurm LTGISTLILE. a=1_|_LD (2011) @Lq_u_lr,ra;gg,mmsurﬂm @qu,emou_'
Qupp prer S
(A) 13 wsbui, 2011 | .(B) 27 wsibut, 2(_)12_
(€ 21 90geu, 2014 (D) 9Guw,2014

99.

100.

1

Jammu and Kashmir has a constitution framed by

(A) The constituent Assembly

(B) -State Legislature - :
(C), Constituent Assembly set up by Parliament
- Constituent Assembly set up by The State -

RUP-smeipli Sirfluemeninlien &@mrraséilu.lgj
(A) <rdueeoliy ;ﬂrrsmu.l FapLt

- (B)  wrfle st inepid

(C) unun@m@mm_ﬁgaﬁlm Q{Uﬁtuéu@mﬁn_] Hliremnugents
D) o= Hmeflu eirfiuimenol HieaTus Fepus

When is the International Human Rights Day celebrated?
(A) 1=t December ‘ (B) btk December
(Cy 8% December -~ 10t December

siauGsa wellg 2 Aavwadr Hembd aﬂ@ﬁn@@ Qamam_m_CuGHps?
(A)  gsburl - : B IgEHBLIT 5
(C) gebur8 - o (D) gebor 10
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